TR — R IKE WU TR

http://www.vane-pump.com

(T6EES)

R IKBI LM 7 2R

T6EE %71

—

J
= TN L1
|
= = ——=
E = = —
A
/ N\
]
FUBEBEET oo {4 : TEEE-072-045-2R00-A10-MO
1. E5-072-050-1R00-A10-MO.................... R T6EE-072-050-1RE-A10-MO ................ o A
A2 (250B4W - 1SO-3019) T6EE T6EE-072-050-1R00MY10-MO .................... Witk
SAE %% (SAE-E, 4 i) T6EES T6EE-072-050-1R00-Afl0-MO ............... B
2. T6EE-JEEN-1R00-A10-MO................. ERLY " AP 1
RTE AR R Il 5
822 -------------------------------------------- ﬁ;i T6EE-072-050-1R00-A18-MO ......... R 9 5 I %
050 oo 1585 R BT 0
052 e 164.8 SAE-B (13 %) Hi%E : 343 N.m 2
057 oo 179.8 SAE-BB (15 ) 1% : 545 N.m 3
002 1907 T6EE-072-050-1R00-A10 i et
06 ... 213.3 - - - - b V1 U PSS X
072 oottt 227.1 EEESItELN AHNIRLL UNC 24
085 o 269.0 T6EE MO -
3. T6EE-072-050fIR00-A10-MO............. TEEEN TOEES MO 00
4. T6EE-072-050-1§00-A10-MO.........oooooceeeee i ]
I £ R
T4 L
2 L £2 L P2 S, Pl 2 L
WOAE |8 D— (s [ []— © D—
=
DENISON 2-22



H R 3R — i BIRSXBRIR http://www.vane-pump.com

T6EE
42.9
Al 167.3
I 406.9
4 157.9
| —
250h8
~ ) 146.0
T = 222.7
h 273.0
22.0
120.0
| SAE-B
T6EES
E 42.9
L1 E F
N - F| 167.3
o G| 406.9
21
Q. 1| 157.9
\ J1| 165.05
o
% ] _ J2| 165.10
< = - K| 146.0
= L ~ N| 2227
———y AN r
%ﬁ A Ll vyl v ¥ | O| 2730
o @P| 220
M1 f Q| 1200
R1
T — Ro| SAE-B
-
I €
K
i BAEH (N.m) A~ (mm)
T6EE T6EES L1 L2 o K1x K2 H1 M1
2 | 7 %:1S03019-2 (45) 1853 92.0 63.0 45h7 14h8 485 | M12x24.0
1| 2 #=: SAE CC (238) 1205 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10x 20.0
5| 2 #:: SAE D&E 1853 100.0 | 635 | 44.450-44.400 | 11.11x11.06 | 49.3 |%’UNCx24.0
3| fLi= SAECC 2113 62.2 315 Class 1-J498b, 12/24 d.p. - 17 }}
4 | -4 SAE D&E 2113 75.0 48.8 Class 1-J498b, 8/16 d.p. - 13 /}
I | NS (mm) T1 Mgy
Al B1 @C1 D1 At (TEEE) UNC (T6EES)
P1 SAE 61 - 1%" 35.7 69.8 37.1 139.7 M12 x 30.0 %" 13UNC x 30.0
P2 SAE 61 - 1% 35.7 69.8 37.1 98.4 M12 x 23.4 %" 13UNC x 23.4
S SAE 61- 4 77.8 130.2 101.6 115.0 M16 x 30.0 5/g" 11UNC x 30.0

DENISON 2-23




